Think and Write #3 What was unfair
about the treatment of the Three Estates?
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Aim #3 Why did France erupt
into a revolution in 1789?
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I. General Causes of the
Revolution







Old Regime /Ancien Régime

Estates Population Taxes Land control

15t Clergy

ond Nobles

34 Commoners
Bourgeoisie
Sans Culottes
Peasants




B. Population and Farming in France in the 18t

Population Farming

Year Population =
2.
1700 21,000,000
1715 19,200,000
4.
1740 24,600,000 -
1792 28,000,000




II. Enlightenment Ideas/Financial Troubles

American Revolution

Monarchy



ITI. Causes of the Revolution

O




Vocabulary
Old Regime/ Old Order

Louis XVI

Marie Antoinette

15t Estate/ 2nd Estate /
3rd Estate

Bourgeoisie

Sans Culottes
National Assembly
Tennis Court Oath

Declaration of the
Rights of Man

Radical

Marie Antoinette




